Write the equation on the line below. Consider and Practise
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Charlie counted 15 sweets in the Chocolate Room. He ate 5 of them. How many sweets does he have left?




Willy Wonka gives Grandpa Joe 6 candy canes and 7 jelly babies. How many sweets does Grandpa Joe have altogether?




Willy Wonka only lets in 5 children into his Chocolate Factory and 5 parents. How many visitors does he have altogether?




There are 27 candy apples on the candy tree. Violet picks 5 candy apples. How many candy apples are left on the tree?



